B ERIERNKEB(ABRERNRKB) T—5-J57%

& HRISIDTBRE
<BfE> <&iE>
BEH &

pon : fREERT A : o : RA2 A B :

FET KR | FEiR | B | X | KR | B | RE R IXE | FEiR | B | "X | RiE | EIR | REE

48 9 2 5 1 T e R 48 4 6 - - - 1 5| 2 -
58 of 3 4 - - - 1 - 58 18 12 1 1 -3 i - -
64 8f 3 38 2 - - - - - |seH 13| 6 1 3 - - 8 - -
% * HE + L
R R

——023%F —BKRSEFY —e—£[F(2022%)

20

) m_\
0.0 T T T T T -

FERERRIHEL 6R)
4

S O # < 5 Lk 3 R

O < i Lk S A

FEBEMRATEE 6F)

6
\ _
E=5d w4
& 2 &
# 5 {
1
o HEEE HE N ]
O X 9 X .0 A D ax D xR P ® > S X o X 9 A Q ax D xR P ® >
VY S Y Sss s Ve Ve e e s s Ve
& HEBANIRRYAJVRABRLSE
<B#> <%ZH>
HwEH e
RERTAI REERTRI
BeK - - Rek - -
IKETH KR | EHE | B | A% | KR | BB | AREE KRBT KR | FEHE | B | X | KR | B | REE
48 1 - S S R S R R 1 - .
58 2 1 1 S I R S R R s| 4 - - - -1 - -
65 3 1 20 - - - - - -]||eA 11 - - - - - 4 -
# E #F
A#% R
10 023F —BESEFY -—e—£[EF(20225F) 0 m0023F —BESEFY —e—£[E(20225F)
E o8 08
B 06 L o
1= -
2 04 {J_ 04 —
i %
B 02 ﬁ . g 02 l I
0.0 ‘ 00 ——
1 2 3 4 5 6 71 8 9 10 11 12 B 1 2 3 4 5 6 7 8 9 10 11 12 A

FEBERABER 6F)

3

2

39 Of

1

S - S N S A T - N
P ;agu(qub(o%(oQ@%} IS
DI IR I S %

O X 9 X 9O %
S
RS VO

/
K
RIS

FEBERABEER 6F)

3

2

3% Of 2

1

O o D > @ X X O
SO ;agu(qub(o%(oQ@%} IS
DI IR I S 4

Q
» /\\x N ;L“
NS

\/‘o




& kETO—7T

<Bt&> <%&%tE>
HWEH s
fREERTA EREERT A
PN _ _ Rk _ —
IR IRE | FEix | B | 7 | HiR | BB | RE IRET KR | Bk | B | "X | Bk | BB | RE
4H s| - 4 1] - A A 4 ]| [4A 11 - - - - - 1 4 -
58 of 20 2 2f - - - - |58 11 - - - - - 1 4 -
68 8] 3 20 3 - - - - -|||eA 3] - - - - - 8 o -
#7 % 1+ *
R R
o 2023 —i@ESFEFY —e—£[FH(20224F) ‘o mm2023F —iBESFEFY —e—£E(20224F)
5 08 08
’; 06 E 06
= . ?: .
Y 04 Yy 04
fE =i
=02 & 02 ——o—
. # .ﬁl—
00 — 00 :
1 2 3 4 5 6 7 8 9 10 11 12 A 1 2 3 4 5 6 7 8 9 10 1 12 A
E R R B RSB (6AR) FRERHEH 6R)
4 3
3
= ® 2
& 2 &
;& o
1 i i
e o= e
O % 9 X O % Ak © x ® X O X Qo O % 9 % O o% O o ® x ® XD X O o
NICAa w{” fi’ﬂ 09/5 fgf’ @z“ o “@Q (”(g) ('5@ ° éf’ S VS %Qﬂ ‘ﬁ)ﬂ@f’ ,\;s”% R > o “%Q ° & (”@ ° ngb &y
& HRERRE
<EBE#t> <&>
RER W&
ERIEFR A ER{ERT A
B&k — - Rek = -
IRET IXKE | fEiR | B | AX | RiE | BB | RE IRET IXKE | BEiR | B | "X | KR | BB | RE
48 6| 20 3 1| - - - -  -|[4B 1 - - 1 - - - 4 -
58 al 20 1 - 4 4] 4 4 - |58 I e
68 sl 2 1 - - - - -|||eA A
# %
AR AR
10 =023 —iBESFEFY —e—£EF(20224F) 0 = 2023 —iBESEFY —e—£E(20224F)
08 08
5 5 06
1= fz
Y y 04
E:5d E=id
& & 02 [ ——t—o—°
# #
00 .:.:ﬁ E——— S
A 1 2 3 4 5 6 7 8 9 10 1 12 A
FRFERAFHRES 6R) FFERAIHREH 6R)
3 3
w2 ® 2
& &
oy o
o= = o -
Q A S » S \d > N > g O » ") ™ D P Q A S » S g > » > g O » ") ™ > o
VS e e S VS e e Ve




& AFOIUIEEE TN RERRE

mEHK
e
T - - -
IFE | FEE | iR | RE | REE

4H 14 3 2 3 2 4
5H 14 1 5 2 3 3
6A 18 5 3 2 5 3
# 1+
zEi%:2

oo 2023 —IBESEFY -—-e—£E(20224F)

& R0 i R 98 BRI SR AE

12 B
FPEHRAIRER 68)
12
10
w® 8 H
& 6 H
oy ||
2 |-
O % 2 > O o @ o D > ® F® >
VeSS E Va
& EHITHE R R E R E
wmEH
Rk — — _
IKE | FEE | AR | RE | REE
45 - - - - - -
58 - - - - - -
68 D D D R R
#%
R
= 00234 BESETY —e—£E(20224)
05
E
= 0.4
s
- 0.3
Y
3 02
&
B o1
00 & —e—0 :
1 2 3 4 5 6 7 8 9 10 11 12 A
FEPEIRAIFRE 68)
3
]2
&
oy
0 T T T T T T T T T T T T T T T
O % 2 > O g% @ o D > ® F® >
VY S ST Va

HwEH
EEE R
B - - -
IR | fEE | iR | RE | REE
4H 6 - - 5 - 1
5H 7 - - 6 - 1
64 4 - - 4 - -
H#F
R
— 0234 BESFETFY —e—2E(20226)
E
=1
]
1=
Y
s
#
11 12 A
FERAPE R A RS 3K 68)
6
ol 4
"o, |
0 T T T T T T T T T T
Q ™ ) » S ™ ) » () ™ ) » %) > )
AP LR\ A A Sl S oA S~ S L ol N
LERSERS ‘L/‘ﬁ;“?/'b R @’gf@ @/ Qg
O ERHMITRDEBYTY,
G
B
AR | RER e en we [me | B | 95 | %E | 25 | AE
STD 15 3 2 3 1 2 2 1 1
ERE
=]
A | REW e [me [ vn | wE | R4
Hgp 5 1 1 1 1 1
O BRERDHERNREREETROESYTY,
TE mAEl MENRER
STD BRI FSUT REFIE . EBEANILRR DAL RERE

REAL VO HEBRE

Hip

AFV)UTEREB TR ORBERRE.
RV T PR R R SR AE . ZEFI T AR AR B R SRIE

O HEHDORDEBDKHIFRDELSYTY,

4+ AHERESEAT2AEL ED#M)

N (ATE &R T ~2(ED 1)




